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7 Solving a system of difference
constraints

Linear programming where each row of .| contains
exactly one 1, one -1, and the rest 07,
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Example: Solution:
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Lecture Description

(Presentation of media objects)

Media Events

(Interface between media objects)

Media-Class
Hierarchy

(Interface to LecTix core)

LecTix core










LTMedia
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ContinuousMedia

DiscreteMedia
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javax.swing

java.util

<<interface>>
EventListener
(tag)

Custom-Event Support Interfaces suggested by Geary [14]

<<interface>>
LTMediaListener

<<interface>>
LTMediaEventSource

+mediaTimeChanged(e:LTMediaEvent)
+nextSlide(e:LTMediaEvent)

+addLTMediaListener(l:LTMediaListener)
+removelLTMediaListener(l:LTMediaListener)

<<interface>>
LTMediaSocialite
(tag)

ControlPanel

— LTMediaEventBroker

#processLTMediaEvent(e:LTMediaEvent)

#processLTMediaEvent(e:LTMediaEvent)

LTMedia

+getVisualComponent(): Component

A

Media-Class Hierarchy
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File Edit View Help

<~ Example of Bellman-Ford

End of pass 2 (and 3 and 4).
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Theorem. If G = (I, ) contains no negative-
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Exploring earthquakes

= What is an earthquake?
Will a large one hit California?
How often do they oceur in the world?

‘What are the impacts
of earthquakes?
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